
Free Plans by                      /   Mazay DIY                                                                          1                                                                                                           3D model  |  Video Tutorial 
 

Homemade Drill Press Plans 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          2                                                                                                           3D model  |  Video Tutorial 
 

 
 
 
 
 
 

 

 

     
 
 
 
    Materials: 
 

1. Ball Bearing Drawer Slide 300mm/60kg  x 1 pair 

2. Bolt M6 x 50 x 1 

3. Bolt M6 x 80 x 1 

4. Flat Fender washer M6 x 5 

5. Flat Fender washer M8  x 2 

6. Nut M6 x 4 

7. Nut M8 x 4 

8. T-nut M8 x 2 

9. Threaded rod M8, length=180 mm 

10. Wood to metal dowel M8x80 x 1 

11. Screw-In Hook x 2 

12.  Spring x 2 

13.  Plywood 12 mm 

14. Plywood 20 mm  

15. Lumber 15×30 mm 

16.  Lumber 20×60 mm 

17.  Lumber 25×50 mm 

18.  Lumber 45×90 mm 

19. Lumber 50×50 mm 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/2XqN1Ls
https://amzn.to/2yrDgUQ
https://amzn.to/2zrJPHr
https://amzn.to/2L3FsVn
https://amzn.to/3bZErsg
https://amzn.to/34oX5Yt
https://amzn.to/2RaREXY
https://amzn.to/3aMCsYE
https://amzn.to/2xQEqIJ
https://amzn.to/2ViFltV
https://amzn.to/2zSgVQN
https://amzn.to/2V18t8G


Free Plans by                      /   Mazay DIY                                                                          3                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          4                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          5                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          6                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          7                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          8                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          9                                                                                                           3D model  |  Video Tutorial 
 

  

Fasteners: 

1. Bolt M6 x 80 x 1 

2. Nut M6 x 2 

3. Flat Fender washer M6 x 2 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/2zrJPHr
https://amzn.to/34oX5Yt
https://amzn.to/2L3FsVn


Free Plans by                      /   Mazay DIY                                                                          10                                                                                                           3D model  |  Video Tutorial 
 

 

Fasteners: 

1. Screw-In Hook x 1 

2. Ball Bearing Drawer Slide 300mm/60kg  x 1 pair 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/2XqN1Ls


Free Plans by                      /   Mazay DIY                                                                          11                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          12                                                                                                           3D model  |  Video Tutorial 
 

 

Fasteners: 

1. Wood to metal dowel M8x80 x 1 

2. Nut M8 x 3 

3. Flat Fender washer M8  x 2 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/2ViFltV
https://amzn.to/2RaREXY
https://amzn.to/3bZErsg


Free Plans by                      /   Mazay DIY                                                                          13                                                                                                           3D model  |  Video Tutorial 
 

 

Fasteners: 

1. Screw-In Hook x 1 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          14                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          15                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          16                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          17                                                                                                           3D model  |  Video Tutorial 
 

 

Fasteners: 

1. T-nut M8 x 1 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/3aMCsYE


Free Plans by                      /   Mazay DIY                                                                          18                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          19                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          20                                                                                                           3D model  |  Video Tutorial 
 

 

Fasteners: 

1. T-nut M8 x 1 

2. Threaded rod M8, length=180 mm 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/3aMCsYE
https://amzn.to/2xQEqIJ


Free Plans by                      /   Mazay DIY                                                                          21                                                                                                           3D model  |  Video Tutorial 
 

  

Fasteners: 

1. Nut M8 x 1 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/2RaREXY


Free Plans by                      /   Mazay DIY                                                                          22                                                                                                           3D model  |  Video Tutorial 
 

 

Fasteners: 

1. Bolt M6 x 50 x 1 

2. Flat Fender washer M6 x 3 

3. Nut M6 x 2 

4. Springs 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/
https://amzn.to/2yrDgUQ
https://amzn.to/2L3FsVn
https://amzn.to/34oX5Yt
https://amzn.to/2zSgVQN


Free Plans by                      /   Mazay DIY                                                                          23                                                                                                           3D model  |  Video Tutorial 
 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          24                                                                                                           3D model  |  Video Tutorial 
 

 
 

All dimensions are in millimeters (mm) 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/diy-drill-press-2
https://youtu.be/wZ18E3Lrm9Q
https://mazaydiy.com/

